New GCSE Maths: N8 - All Fractions skills together

Correct Answer: ABCD
18 Explanation:

7R R

What is the above fraction in its simplest form?

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
2 Explanation:
S-S
What is the above fraction as an improper (top-heavy) |~ TITTTIITTIITTRTTInTraanIaanmiaanmann it s aan sy
fraction?
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Correct Answer: ABCD

Explanation:
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Correct Answer: ABCD

Explanation:

Which of the following fractions is the smallest? | reersrrs s

Correct Answer: ABCD

3 Explanation:
What is E AS A decimal? | e

Correct Answer: ABCD
1 + 4 Explanation:
[ 2 K

Which of the following is a correct next step in
answering this question?
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GOSE Frectons Questions Correct Answer: ABCD
2 .3 Explanation:
< T

What is the answer to the above question?

e Question Correct Answer: ABCD
2

4 X =

3

What does this equal?

Explanation:

e Guestion 10 Correct Answer: ABCD
i — l Explanation:
2x X
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